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For each question from 1 to 28, four opticns are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4} and shade your answer on the Oplical Answer Sheet.
(56 marks)

1 Lucy is pregnant. Besides her reproductive system, which two organ systems in her body
work togather lo provide nutrients for her developing baby?
A Muscular system
B Digestive system
5 Circulatory system
D Respiratory syslem

(1)  Aand Cenly
{2) B and C aniy
{3) B and D only
{4) A and D only

2 The roots of a plant

A support the plant

B can store food for the plant

C hold tha plant firmly to the sail

D absorb water and mineral salts from the soil
(1) D anly

(2) Aand Conly
(3) B, Cand Donly
{4) AB CandD

3 Which of the following show(s) the comect comparison of gases between inhaled air and
exhaled air in the human body?

Gas Inhaled-Air Exhaled Air
A Oxygen More Less
B Nitrogen Less More 1
C Water vapour Same Same
D Carbon dioxide More Less
(1)  Aonly

{(2) AandCoenly
{(3) AandDonly
{4) B and C only

More papers on SeriousAboutSchool com/OnlineExams
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4 Studythe flowchart,

Which of the following correctly identifies the living things represented by W, X, Y and 27

(1)

(2}

(3)

(4)

Living
things

W

Doas it maks
its own jood?

Yes

Mo

kid

Can il ba sean
wilh the naked

ava?

Yes

Jm

Doas it
reproduce by
spores?

W
-

Yes

No

W

e

X

W X ¥ z
Bread mould Bacleria Orchid Mushroom
Orchid Mushroom Bread mould Bacleria
Bacleria Braad mould Mushroom Orchid
Mushroom Orchid Bacteria Bread mould
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3 Jeffri placed a healthy potted plant in a sealed glass container and placed it in the garden.
He recorded the amount of carbon dioxide in the container at regular intervals over 24
hours and plolted the graph as shown.

Amount of carbon
dioxida

. )

= Time (h

Which parts of ije graph show respiration and photesynthesis taking place in the plant?

Respiration Photosynthesis [
{1 FPandQ Rand S ;
{2) Pand 5 Qand R
(3} PO Rand S Qand R
(4) P,Q RandsS Rand & f
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More papers on SeriousAboutSchool com/OnlineExams



5

G Atick () in the {able indicates the presenca of acell partin cells W, X, Yand Z,

Coll Part Cell W Cell X Cell ¥ ceiz |-
Nuclsus v v v
Cytoplasm ¢ ¥ v ¢
Csll membrane v v v ¥
Cail wall v v
Chloroplast v
Which two stalements are comrect?
A Cells W and Z are plant cells.
B Call Y is abla to photosynthesize.
c Cell X could be taken from the rool of a plant.
D Cell W has a fixed shape but Cell Y does not.
{1) Aand B
(2) AandD
{3) Band C
{4) CandD
T The diagram shows a leal on a plant.
sunkight
. 1/
e
Y
x r}%
What are substances W, X, Y and Z2?
w X Y z
&) carbaon dioxide oxygen water starch
(2) oxygen carbon dioxide waler glucose
(3) carbon dioxide oRygen starch watar
(4) oxygen carbon dioxide glucose water

ACS (Junior) P8 Scienca Prelim 2021
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a8 Tha diagram shows some animals,

Galdfish Cockroach

Which of the following stetements are correct?

(M
(2
(3)
{4)

A Only the goldfish has scales.

B Oniy the cockroach has six legs.

C The frog and snake have moist skin.

D Adl four animals repreduce by laying eggs.

Aand Conly
B and D only
A, C and D only
B, Cand D only

ACS (Junior) P8 Scienca Pralim 2021
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g Aria set up four containers, A, B, C and D, with 209 of cats and a mealworm larva
in each of the four containers at the Science lab. He recorded the amount of cats
left in each container over four days,

Amount of oats left (g)
Container 1
Endofday1 | Endofday2 | End of day 3 | End of day 4
A 18 13 6 8
B 17 9 8 7
C 16 8 & 8
D 15 14 11 9

Which container did the larva develop into a pupa first?

(1 A
(2) 8
& ¢
4y D

10 Mark made the following statemenls about a germinating sesd and an adult
plant.

A They need air, waler and sunlight.
B Thay geat food from the seed leaves.
C They take in water through the roots.

Which statemenl(s) is/are troe for bolh the germinating sead and the adult
plant?

(1)  Conly

(2) AandB only
(3) Aand Conly
(4) BandConly

ACS (Junior) P6 Science Prelim 2021
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11 Julian conducted an experiment by releasing fruit A from a height of five meters.
The fruit landed at a distance, X, as shown in the diagram.

fruit

v

He repeated the experiment with fruit B and recorded the resuils in the table,

Fruit A B

Distance, X (cm) 60 500

Which characteristic 'of fruit B allowed it to travel a further distance than fruit A?

(1) Hooks

{2) Fibrous husk

{3) Wing-like structure
(4)  Sweet and juicy flesh

ACS (Junior) P8 Science Prelim 2021
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12 Study the flowchart.

Paits of the human reproductive system

Quastion A

Duestion B

ovary

Which of the following is cormsct?

Question A Questlon B
(1 Does it raceive the sperm? Does it produce sparms?
(2) Does il receiva lhe sperm? Doss it produce eggs?

(3) | Does the fertilised egyg develop here?

Does it produce sperms?

(4) | Does the fertilised egg develop here?

Does it produce eggs?

ACS (Junior) F6 Science Prelim 2021
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13 - The dlagram shows a circuil board. The wires connecting the battery fo the bulb holdera X,
Y and Z, are hidden under the wooden board.

bulb hoider
batiery /

waooden boartd

Calvin tried to find out how X, Y and Z were connecled using two identical light bulbs. The
bulbs would light up whan they are placed in bulb holdars that are connected in a closad
circuit, He racorded his cbservations in the table as shown.

When no bultb.was placed In bulb holder Observations
X ‘bulbs at ¥ and Z litup
Y bulbs at X and Z Jit up
P bulbs at X and Y did not lght up

Which of tha following shows the comect circuit that is under the woeden board?

(1) (2}

e

1

® @
£

(3) (%)

OROXO

ACS (Junior} P6 Science Pralim 2021
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14 The following circuits are sﬁl?p using identical batterias and bulbs, which are in working
condition.

.r*“lrl
& g sy L
&* |

Circuit R Circuit S Circuit T Circuit U

Which of the following shows the order of the brighiness of bulb X in each circuit, from the
brightest to the dimmest?

(1) T,URS
2) RST,U
(3) S.RUT
4) UTSR

15 Anna heated a beaker of ice. The graph shows the changes in the temperature of the
contents in the beaker over 20 minutes.

Temperature (°C)

Ee

A .
0 # Time {min)

5 15 20

Which parl(s) of the graph show(s) when the contents in the baaker gained heat and .
changed state?

Gained heat Changed state

(&} BC AB and BC
(2) AR and BC 8Cand CD
(3) | AB,BCandCD AB and CD

(4) AB, BC and CD AB, BC and CD

ACS (Junior) P8 Sclence Prelim 2021
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16 Ths lable shows the freezing poinis and beiling points of two substances, F and Q.

Substanca Freezing Point (°C) | Boiling Point (°C)
P 110 180
Q 50 230

Which ara the correct stales of substances P and Q at 80°C7?

P Q
(1} Solid Solid
(2) Salid Liquid
(3) Liquid Liquid
(4) Liquid Solid

17  The ball and ring shown in the diagrams are made of iron.

Diagram 2

Diagram 1

In Diagram 1, the &all was unable to pass through the ring atroom temperature. In Diagram
2, the ball was able to pass threugh the ring after heating the ring over a Bunsan burner
ior 10 minutes.

Why could the ball pass through the ring?

Ball Ring
(1) expanded remained the same size
(2) expanded contracted
(3) remained the same size expanded
(4) . contracted expanded

ACS (Junior} P6 Science Prefim 2021
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18  Ronaldo placsd a humidifier in his bedroom which releases mist into the air as
shown.

mist

Aiftar his shower, Ronaldo switched off the humidifier when hs entered his
badroom.

Which of the following explains why he switched it off?

(1) This will cause the water on his skin to lose heat to the surmounding mist
and evaporate faster.

(2)  This will lower the temperature of the surrounding air, increasing the rate
of evaporation of water from his skin.

(3) This will increase the amount of water vapour in the surrounding alr,
increasing the rate of condensation of water vapour from his skin.

{4) This will net further [ncrease the amount of waler vapour in the
surrounding air, allowing the rate of evaporation of water from his skin to

incrangse,

ACS (Junior)-P6 Science Prelim 2021
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19  Samuel conducted an experiment using identical beakers and metal dishes as
shown., He filled the beakers with the same volume of water at different

temperatures.

dioplals

a

metal dish H\w
water /’Eﬂ?‘;ﬁ’/ B

beaker of
water

set-up M setup N

Aftar a few minutes, he noticad water droplsts forming only on the underside of
the metal dish in sebt-up M.

Which of the following explains why waler droplets did net form on the underside
of the matal dish in set-up N?

(1)
(2)
(3)
(4)

Temperature of water in set-up N is 100°C.
The maximum rate of condensalion has been reached.
Temperalure of metal dish in set-up N is lower than the surrounding air.

The metal dish in set-up N is al the same temperaiure as the surrounding
air.

20  Which isfare renewable source(s) of energy?

(1)
(2)
(3)
(4)

A Ceal
B  Wind

G Sunlight

D Nalural gas

A anly

B and C only

B, Cand D only
AB CandD

ACS (Junior) P8 Science Prefim 2021
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21 Tha set-up shows a torch shining light on three objects A, B and C made of cardboard.
Tha cbjects are placed at different dislancas from the torch light.

sereen

torch

The diagram shows whal was sean on the screen.

sCreen

Which of the following correctly represents objecls, A, B and C7?

A B c

PP T AR BT
=ty S
T AT L
o

(1

(2)

)

{4] D

ACS (Junior) PE Science Prelim 2021
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22 Diagram 1 shows a container filled with three different substances, R, S and 7.
Diagram 2 shows the same container filled with mora of substance 5,

saalad inlet

after more

S is added
air-tight
corttainer

Diagram 1

Based on your obsaervation of the diagrams, which are ihe states of matter of
substances R, Sard T?

Substance R Substance S  Substance T
(1) Solid Gas Liguid
(2) Solid Liquid Gas
(3) Liquid Gas Solid
(4) Liquid Solid Gas

ACS (Junior) PG Science Prelim 2021
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23  Lucien set up an experiment as shown.
syringe
delivary

inveried tube
glass

| basin of waler

After Lucign pushed the plunger In three times, he obsarved that the water levsl
in the glass decreased as the waler lavelin the basin increased. What properties
of air and water wera observed?

A Air takes up spaca.

B Water {akes up space.

C Alr can ba comprassad,

D Waler has an indsfinite shapa.

(1) AandBonly
{2) AandConly
(3} A.BandDonly
{4y B, CandDonly

ACS (Junior) P8 Science Prelim 2021
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18

Mathan sef tp an experiment fo find out which objects, A, B andler €, are
meagnats, He labelled tha two ends of each object, X and Y. He brought the
ends of each objact near the North pole of a freely suspendad magnet and
recorded his findings in a table.

objact A
resly
suspendead [ -
e 1T W X Jﬁ
Interaction with magnet
Object End ek
Aftracted Rapailed
X +
A
Y v
X v
B
Y v
X v
c | v 7
MNathan can conclude that object{s) isfare magnets,
(1)  Aonly

(2) Aand Conly
(3] BandConly
{4) A, BandC

ACS (Junior) P8 Scienca Pralim 2021
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25 Malthew set up an experiment to find out how the thickness of material Q affects
tha magnatic ferca acting on the paper clip.

magnet
I e e e ———— material 4
paper clip
string
holder

Which two aclions must Matthew take 1o test tha aim of his experinient?

(1)
(2)
(3)
(4)

A Use diiferent thicknesses of material Q.

B Use differant magnets throughout the axpeariment.

c Use the same paper ¢lip throughout the experiment.

o Vary the distance between the papar clip and matarial Q.

Aand B
Aand C
Band C
Band b

26  When Alex placed two Identical objects, X and Y, on two springs of the same
length, P and Q, spring Q compressed mare than spring P as shown.

object X
object Y

Which of the following statements are true?

{1
{<)
(3}
(4)

A Spring P is more stiff than spring Q.

B Spring Q has a greater mass than spring P,

Cc Elastic spring forcs is acting on objects X and Y,

D There was more force acling on £pring Q than spring P.

A and B only
A and C only
B and D only
A, Cand D only

ACS (Junior) P§ Science Prelim 2021

More papers on SeriousAboutSchool com/OnlineExams



20

27  Aniron ball s released from the top of a plastic ramp which has a strong magnet
attached 1o its underside as shown.
iren ball

plastic ramp

—— woodsn block

Which forces are acting on the iron ball as it rolls down the ramp?

A Kinetic force

B Magnetic forca

c Frictional force

D Gravitational forca

(1) AsandDonly
{2) BandC only
{3) B, Cand.Donly
(4) A,B,CandD

28  The diagram shows a flight of stairs.

strips made of rough material

stairs )

Hew do the strips prevent Tom from falling?

(1) They will net break when stepped on,
(2) They reduce the gravitational force acting on him.
(3} They act as lubricant fo increase the amount of friction.

(4) They incraase friction between the soles of his shoes and the surface of
the stairs.

End of Booklet A
ACS {Junior) P& Science Prelim 2021
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For questions 29 to 40, wrila your answars in this booklel.
The number of marks available is shown in brackeis [ ] at the end of each question or part question.

[4£ marks]
29.  The diagram shows the human digestive system.
P
7
U
T
S
{a) Atwhich parl(s) P, Q, R, S, T and/or U Isfare digeslive juices produced? [1]
(b)  Describe what happens to the partially digested feod at part T. (2]
{c)  Whatis the function of part 57 (1

{Go on fo the next pags)
SCORE
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30.  Thediagrams show the circulatory systems of a fish and a human, The arrows represent the
movament of blood in each system.

i Other paris
Qi tha body
L= Other paris
o of the body Lungs
Heari - 2
rish Circulatory Systemn Human Circulatory System
(a)  State how oxygen is absorbed into the blood in each of the systems. [2]

Fish Circulatory System:

Human Citculatory System:

{b) The blood at X and Y is poor In oxygen. Explain why. M

{50 on lo the nexl page)
SCCRE
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31.  Jonaihan recorded the number of young plants, S and T, at various distances from
their parent plants in the table shown.

Distance from Number of Mumber of
parent plant (m) | young plantS | yoeungplantT
2 8 2
4 2 3
g 0 7
g G G

{a) Explain why growing further away from the parent plants benefits the young
lants. [1]

(b} The diagram shows two fruits, X and Y.

Fruit X Fruit Y

Based on your observation of the characterislics of the fruits, which fruit, X or (2

Y, is fikaly to be from plant T? Expiain your answer.

(Go on to the next page)

SCORE

ACS (Junior) P& Science Prelim 2021
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'32.  Ayden wanted to find out which material, plastic, paper or fabric, can-hold the most mass
before tearing. He set up the expariment as shown -

mi% .

]
plastic
Q] o
refort i : sieel ball
stand
lﬁ-—u—-‘.}
He added slzel balis of mass 100 g to each bag until it tora.
{a) State a hypothesis for Ayden's experiment, [1]

He racorded the results in the table.

Mumber of stee] balls added
Material of bag before the bag tore
Plastiac 48
Paper 25
Fabric 83

{b)  State two common propertias of plastic and fabric that make them suitable for making
bags to carry things. (1]

{c) Based on the resulls of the expariment, which is the best rmaterial for making a bag to

carry things? Explain your answar. [1]
(Go on fo the naxt page)
SCORE | /
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33. Tom designed the following elrcuit for an apartment with a living room, bedrcom and

bathroom,
U bathreom 4 bedroom |
! . i ' ia Key:
,: : : wall -----
" I i
1 ] i
 ® =
! i ;
i 1 1
: ; :
1 1 “‘f‘_ﬁ‘
; : ; electrical
. L power
: ! supply
; 1
! 1
: ;
; ;
1 ]
| |
; i
= s
i living room :
L g v o o o P S oy g R

(@) List two disadvantages of this circuit and explain your answer. 2]

A
b

{Go on to the next page)
SCORE
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(b)  Complete the following circuit diagram using only swilches and wires lo address the .
disadvantages in (a). i)

e ke e e R T L L L L L T T .

elzclrical
power

supply

{c) Tom wants to add an additional switch so that all the lights in the 2partment can be
swilched off at the same tima fram his badroom. Draw on your clrcuil in (b) an "X to
mark the position of this additional switch. [1]

(Go on to the nex! page)
SCORE
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34.  Sally bought a cup of hot coffes from a fast food restaurant that camea with two different types
of removable cardboard sleeves, X and Y.

side view of side view of
cardboard cup cardboard
sleave X { sleeva Y

part in contact
wilh cup

cardboard  cardboard 8>

sleeve X slesve Y W

- )
P e

(a) Sally found that she could hold onto the cup of hot coffee with sleeve Y longer than
slegve X, Explain why. [2]

On her bithday, Sally was given a double-walled glass as shown.

glass
walls

double-walled glass single-wzlled glass

{b)  Sally was told that the double-walled glass would keep a cold drink cold for a longer
time than a single-walled glass. Explain why.

{c) State an advantags of using a single-walled glass instead of a double-walled glass to
contain a hot drink. {1}

(Go on to the nexf page)
SCORE
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35.  Jack prepated the sst-up shown.

wooden diztance that the rubber
table band was stretched back

He used the same iron cuba and sirstched the rubber band {o different distances. He

racorded the distanca iravelled by the cube on the surfaca of the table each time the rubber
band was released,

(a)

(0)

(c)

ACS (Junior) PG Sclancs Prelim 2021

Disiance that the rubberband | Distancs travelled by the

was stretched back {cm) iron cube {em)

4 8
§ 12 N
8 17
10 21
12 N 25
Fill in the blanks fo show tha main anergy conversions that occurred. 1]
L e il er—
energy energy energy
{in the sbreiched (in the moving (in the moving
rubbear band) rubber band) iron cube)

State the relationship between the distance the rubber band was stretchad back and
the distance travelled by tha iron cube. {1]

Without adding or removing any materials, suggest one way to make tha iron cube
travel g further distance on the surface of the wooden tabls, when the distance that
the rubber band was siretched back to is 12 cm. (1]

{Go on to the next page)
SCORE
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36. Patrick sets up the experiment as shown using identical apparatus,

A R e
steel nail altachad lo a sting

wire coiled around
a fixed iron rod wire coiled around
h i A_AA fr"f{\’”/#aﬂxedimnmd

\\H\H\\ \

VWUV [T VL VI VA V)

o] 1] o 1 e

alectromagnet X gleclromagnet Y

(a} Whatis tha aim of Palrick’'s experiment? 1]

(k) When ha clozes the switches of bolh circuits at the samea time, he obseryes
that the sleel nail moves towards one of the slectromagnets. Which
alectromagnet, X or Y, does the steel nail move towards? Explain your answer.  [2]

{c) Palrick wants to investigata if the material of the rod affects the strength of the
eteciromagnet. State the change(s) he has lo make to his set-up o investigate
his new aim, [2)

(Go on to the next page)
SCORE '
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37.  Mr Tan carrled out an experiment on the floor of a classroom. He altached a 20 cm
spring to a wall and placed a toy car naxt to it. Whan he pushed the toy car towards
the wall and released it, the toy car moved forward. .

wall spring

% toy car
"

o o ! -FL--H“}
¥ lpm g

Mr Tan repealed his experiment by compressing the spring to different lengths and
recorded the distances travelled by the loy car in the table,

Length of compressed spring (cm) 8 12 16
Distanca travalled by the loy car (em} 34 | 20 15

I

(a) Why did Mr Tan use tha samea toy car throughout his experiment? [1]

(b) Mr Tan poured some water on the fleor and found that the toy car travelled 3
further distance when he repeated the axperiment. Give a reason why. (1]

{c} Mr Tan placed a ramp as shown.

wall spring ramp
Ry

He released the toy car when the length of the compressed spring is 12 cm.
Will the distance travelled by lhe loy car be mora than, less than or remain at

20 cm? Explain your answer. [1]

(Go on to the next page)

SCCRE
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38. Fahim set up the experiment as shown. He wants tafind oul how the area of the sail
of his toy boat affects the distance the toy boat travels across a pond with the fan
turned on, which is placed 5 cm from the toy boat.

sail

distance travelled by the toy boat

k4

.

toy boat
fan .

Fahim repeated the experiment with the same toy boat with different areas of sall
and racorded tha results in the table.

Area of sail (em?) iﬂ 7 &

Distance travelled {om) 50 28 20 12

(a) Stale a property of the material that the sail of the toy boal musl have 1o allow  [1)
the toy boat to travel on water.

(b) Explain why the toy boat travelled a greater distance when the area of the sall
is larger. (1]

{c) Siate ane improvement to the experiment to obtain a more accurata result. (1]

(Go on to the next page)
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&
a9, %{EI‘I wants to find the volume of a stone using the following apparaius,

200
QO |
container with stona 200 ml measuring
200 mi of water cylindar

it
{a} Describe how S;Laﬁ can find the velumea of the stons using the given apparatus.
You may use a diagram in your answer. [2]

{by Using the property of matter, explain why your method in (&) works. (2]

{Ge on to the next page)

SCORE
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40, Sam set up the following solar still-to obtain water from sea water. ' =

clear glass cover

\ "'-d'-.-il.:—""'i.}‘-‘-"!‘.'.'L
water collection dish ==e—p” Water outlet
sea water
metal block
(a) State the purpose of the fans In the soiar still ]
{b) Describe how water was collected in the walar collection dish. 2]

{c) Sam noticed that lass water was collacted once tha sea walter lavel was lhe
same height as the metal block or lower, Explain why. 1]

End of Paper

SCORE
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